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SECTION
1. (a) Let G

order.
be an infinite cyclic group. prove that e is the element in G of
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Is R an integral domain ?
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Solve the following programming problemlinear
Ma:<. z = -2*,- x, subject to 3x ,$xr=3,4x,+3xr>6,x,+ 2xrt and x,, x,l0.

U'b1"9

M a,A"

o

F't 2\ t t,*
Bn, lrnt = B

L",*3rr 76
\+autS q

,r1 ,\u)o

=l uo.1 * tq^t)7

ltal

S\-andcr,rd 
&*rn ahd a- 

P hGde- r^eH^r$cl .

h{in |: Ar1e4_

3*r -t )u- + C\ 13
<-(

4xr t h. .Sr tqo =a
}1 .tlhr t 33

Q rL ,9o,S3)

/q

| -.t

31,-

r-.1

11

F
I

o{

Q-u

SB

t
-1

\
G,r-

q

I 3

5t3
+

,p
O

I

\i

o

c
I

I

2_ 6Lr:)
cttr3\

o
o

o

o

o

o

I

3r r
1t r

I

l

-lr r
3lr

o
t/ r-

-J tr

o
3l I-
tlr'

I

sfrJatamlh.,am ll

P.T.0.

I

0.{ Qu !1- .9

-l

0

I

o

0

o

o

o

o

t

3

2-

-51:

t^-
c

3
t

-t

lrg

5tt

I I

0
t

e

0

c

o

o

0

-1
3

e

o

0

o

?rg

trr

-qt 3

-t

t

&

1
I

t

o

I



2i of50

P ho.+. I ls co\^^?\ct<O 4 pvo te*t d l$ pt"o+{ S

I

,i
':
T
#
#

f;*
c

1

u cila-ln3

bur o

c

o

l-h e fcttrhrc." R oPhnr'o.lr*
,/

tur_l-h & c 3( rAt 'i tf
I

r txoy r

L\
/

\t it,r" Sz S3 !-us
,)_

I

o

o

I

o

I

o

o

$tr
-8lt-

I

o

o

o

t

o

3tr
6lr

I

t/r
1/ r

o

o

o
0

I -31 r- C

3 r
---6tr

a2-l r

W ffffi{,frffittrn,r{"mrt'rto(f,lloFEt rerru.irr r-s rrrlrtrir.r-I;ip,nerlglF+rax!iaa.r.a.j- I L.a xa.aaailrarr
P.T.O.

I

t

t



5. {al fil Form p*gJitrengat gquajron by eilminaungfunction f fr omz-y, + zgw.lOgyl. 

-- 

- s- :_-----__:_j
{iil sdw (x - yl p + (x + yl q . 2p ttgl

, 7,Y'{rl[{rls:Y)-0
Dt+{ arf x eh d

1 t

\

27 of 50

EECTION - B

L

otu

t

ddaldr--

U

H { *'!-T I :tI

H

L

&L
,I t1 rl'({*r'Jy){

)

)

1q,

r') 0-r.1) p .( (rut.t) t -r 2\I

I+ B t ls.f qnfic, A''''xfl\&JI^/ <qt'wtra" frm"

d.n^

I
E

6lu
m

P".l i! \ly

,[n&r =C]
7 2,\L

i)

y-r{
)^{ y

t\
$ tu, ul ! IT

nnt.{ L J.nr*\l
g t 0"t .{ -,tn }-

,tfi
,#r,

._ (v-r I

Lvtr)
u -l- u-l
(ur t1

Str t) d,u { )d.r1 : o

fl *1t{ o {

l*r :
gg\tllrq

il.tlrxfirll 1l0.Le.l.ta: OaltlailalCi|l$tlll

P.T.O.

./

m rJrarrra.n

L



s. (b)

28 ot 50

D'2) 20x2 sin (x + Y;'

CS"-t Dl>'-eo) r = Mtsfn(q"t \)

A<r+,\\ot el uolro" tr

(t'*DDr -6Dt 1*' o

': (nn'* rn-6) a !g
t 

O t3)Lrn-
-' 0A: rn; 2

p,.rt-+rn1 -D'fn, 0''l

* #.. qIt-3r") *

Po^I cu\o.t **il U

(Dt3D')Lb-aO) * = n'tsrnLxtY)

rt\frr Ln"t ,r (brs Dl ) (D-: P ') |."} V-'c-l^^

/*r I lL'sihCc-\) dr-
ffip' J

4r(

)

4

Lf.rlrrn .rICl( LeaL.15 : 0aaSrttltl:,0Lrrafilll

P.T.O,

I

ffi#,ififf ffi [lH::,I,!'fi IH:,iXI:H:'i].'11,'o[fl '-''
!#I4Fr ffisJsJ'',':*ii*:[H3.:l'rn*.."*r!r'r'ronn^hr

+ DD'-

2 L)

)

t

/

I

\



. G

29 ol 60

ffi

g.(clArocketirlaunchtdfromtheground.I,',s!Igj"tereddurin8thc
fimt 80 seconda and is given in the table below. Using Simpson's Jrd 

rule, flnd

veloci l,of the rocket at

V: +

J fu) d*
lrol

1

o

$f hntta^r { ^t'
T

3 I U,,U n t L(,{riYq*\e't"') 'tqLqttYsr'
.,

u: b to
t 3ol So.el + t{ (31.6}t gs ql f t(s33 1L{6.6q )

7

f L ( j1.3\ 131.2r + h Lr-)l
Lq

\*t*-e-

40 50 80o[10 20 30 60 70t (ser )

so I st,os 33,34 35.47 37.75 40.33 43,25 46.69 50.67f(cm /sec'): 
,

?cqo- ct*t1 e (

ftrr..}n f*b |.. tlrt{lttl tLtfilt
P.T.O.

I

xlrar$am, aaI ldralsatelrs



30 of 50

5. (d) (il Simplify the expression A= XY +8, + ffi(Xr + Z)

(ii) Simplify the Boolean expression Y =TE+m
Prepare truth table to show that the simplified expression i . trol

Y. yy r xZ r xiz(xr*z)
Y=XYrxz+xYz+xYz
\: YY r E + xYz
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7. (b) (i) Using Runge-Kutta method of fourth order, ,ofr. f|=ff *i,t,

\,x - 0.2, 0.4.
6-nvert 1011101.1011 to octal and then to ho<adecimal.
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8. (b) (i) Convert hexadecimal number 2647 to octal.
(ii) Convert hETeffiffiT-mErdoz to binary.
(iii)A committee of three approves proposal by majority vote. Each member can vote

for the proposal by pressing a button
buttons are connected to a light bulb.

at the side of their chairs. These thre
For a proposal whenever the

of votes takes place, a light bulb is turned
possible so that the current passes and the
the proposal is approved.
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whose cen tre is at rest, vibrates radically in an
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